REVIEW EXERCISES - MATH 2D &
J. SEPARARBLE EBQUATIONS

1. Find +he solution to the given TVP

dx

SQPGY‘Q{@ vertab s AdY _ tenxdX

IY\‘rggrchr S d9 = gte{\xdx = mmf&n‘(:):—/@ﬂlCOSXH*C]
(1+y?)

Use Tnimal value: ercten (E) — —on )+ = las-—c;

benee,
oreteny= —2nlcosx| + ﬂ/B -,—9\ y= —tan[—}mlcosxl +7r/3ﬂ

75 the port culer sdution o the gnien TVP

T dy = 2cos? (0)="T0
9. Solve the TVP %Tﬂ% Y , Y /Lf

Seperrarte vertables:  dY _ atd+
costy

Triegrate: g 1 dg=§9_1cd+ = [f@lny:tl'i'c.
costy

Use il velue: ton (T )= 0"+ 5 1=C

H’Cﬂ(ﬂ—)
Jcemg—:tlwbq

15 the particuler solution 4o the ghven TVP
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3. Solve the VP, .. QY _ UYsMB © yim—d.

o d@w /[.[-H?_

Separmc verrables ’1'*“:51 d{j = Bsnede

Y
l(\—%ﬁg(@ﬂ‘_“ S ___H../Hg ldt’ = S gsnoede
|
A B
— /l-t. b = | — z@ | L
b (Leaas § (fee)dy - amae e
B= S EenBdB = — Bcose — Sc—wse)de.—- —BcosE+sNEB+l2
U= du:d@

5MNBde=dv V=-(0se

A=B = Onlyl+ Y4 = —scoso+smO +l2
o5

—C
= _onlyl +,9i1 = _pose+ sne+ (LK)
rewrite ites C

. |enlyl +_g}_—, —BcosB+sN O+ L‘\

Use mitnal value:

’ > 4 =T1+tC C:i_'ﬂ
S On AL+ %:—ﬂoos(ﬂnsmm)—rc > 4 L

hence,
i 4T
2nlyl +_%. _ —boso 50 + L 1
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l‘. +ind +he genercy soluton o the _dX_ ¥

— :X

dt
SePam+c vertables: A dx=d+

X+ X3

Integrae : g ——dx= 5d+ —t+C

X+ x3

N o e

A

A= 4 ax = (:L, *_,)C;X_/gjmxl-j_,anlx +)
%2 X x?

' 7
Use pertral frec+on -] 71 -
e iy _ 4 20 (5)
4 _ ax»f L C 7
X+x> (xzmx IEETOI 0 (X )
= Vi

v | eb*fé e-{: e .
= = = : +
) (ﬁ) m Fo1s & cons-Haﬂ
i 1+
= I+ x>
|t Xt
A
o A- __i_,:,Keq't 5y A+XT= -—\—:@,
B |4 X*
= W = Ket® .
- A— Ket®
Hentt ) W
X = A-Ke Vi

s e genwol soln o e gen (pr=slen,
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